





5. Which among the following is a process of structural change ?
() Industrinlisation

ihy  Secularisation

(1 Modermisation

(d)  Sunskritisation

6 Match the following - (Scores : 3% 1=5)
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[ i1, | British rule | Flectronic Money
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jii. | Globalisatumn . Himalayan foot hill

1 =izl
iv. | India | Modernisation

Ecological Sustanability

l V. LL‘hiﬁI-;u Movement | Sunskritisation

Part-11
Q. Nos. Tto 1 1. Answer all questions, each question carries 2 Scores.
(Scores : 5x2=10)

7. The goods that peaple buy and use are closely related to their status in society.

Which term is used explain above relationship ? Who coined the term ?
% Define sex ratio.
g Write any two permanent wraits of tribes.

|0, Elements of British colonialism lives on in contemporary India. Give two examples

from the experience of your daily life.

11. Esxplain briefly, “Time slavery’ in the IT sectar.
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